



**Vendor Ranking** 

Page 1 of 1

Letting: 02241211 December 11, 2024 11:00

Call Order: 003

Contract:

E21G6-R0

District 2 District:

Counties: ALACHUA, DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

**Project(s):** 41021347267 (\*)

Contract Desc: Westside of Alachua County Mowing-Routine Maintenance

AM

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$350,585.06	100.00%
2	GRSC, INC.	Responsive	Non-Winning Bid	\$460,345.06	131.31%
3	BOONE IMPROVEMENTS, INC.	Responsive	Non-Winning Bid	\$498,807.60	142.28%
4	SUPREME ROOFING & CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$550,525.50	157.03%
5	GRADING & BUSH HOG SERVICES IN	Responsive	Non-Winning Bid	\$606,998.40	173.14%
6	AMG OPERATIONS, LLC.	Responsive	Non-Winning Bid	\$682,301.28	194.62%
7	ALL TERRAIN ENTERPRISES OF BRAD	Responsive	Non-Winning Bid	\$722,133.30	205.98%
	JT RUBY CONTRACTING SERVICE INC	Non Responsive	Non-Winning Bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 4

**Letting:** 02241211 December 11, 2024 **Call Order:** 003 **Contract:** E21G6-R0

District: District 2 Counties: ALACHUA, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS WIDE Project(s): 41021347267 (\*)

Contract Descr: Westside of Alachua County Mowing-Routine Maintenance

The improvements under this work document driven contract consist of large machine mowing, slope mowing, intermediate mowing and litter removal on state maintained right of ways in Alachua and Bradford Counties. Mobilization and Maintenance of Traffic are incidental to the pay items listed. RENEWAL OPTION. BID EXPRESS MANDATORY.

Line No / Item ID Alternate Item Description	Quantity Units	(1) T & M LAV SERVIC		(2) GRS	C, INC.	• •	PROVEMENTS, IC.
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LA	ARGE MACH	INE MOWING (AC					
0005 E107 1 1 LITTER REMOVAL	13,706.400 AC	3.00000	41,119.20	16.50000	226,155.60	15.45000	211,763.88
0010 E107 2 1 MOWING (LARGE MACHINE)	9,833.180 AC	27.00000	265,495.86	18.73000	184,175.46	23.20000	228,129.78
0015 E107 2 2 MOWING (SLOPE)	64.400 AC	100.00000	6,440.00	155.00000	9,982.00	154.50000	9,949.80
0020 E107 2 3 MOWING (INTERMEDIATE MACHINE)	500.400 AC	75.00000	37,530.00	80.00000	40,032.00	97.85000	48,964.14
0001 LARGE MACHINE Section MOWING (AC)	on Totals:		\$350,585.06		\$460,345.06		\$498,807.60

Contract Grand Totals:	\$350,585.06	\$460,345.06	498,807.60





# **Tabulation of Bids**

Page 2 of 4

Lettin	<b>g</b> : 0	2241211 [	December 11,	2024 <b>Cal</b>	l Order: 003		Contract:	E21G6-R0	
Line No / Item ID Alternate Quantity Item Description Units			(4) SUPREME ROOFING & CONSTRUCTION, INC.		(5) GRADING & BUSH HOG SERVICES IN		(6) AMG OPERATIONS, LLC.		
( ) in	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC									
0005 LITTER	E107 1 1 REMOVAL		13,706.400 AC	20.00000	274,128.00	18.00000	246,715.20	17.00000	233,008.80
0010 MOWIN	E107 2 1 NG (LARGE MA	ACHINE)	9,833.180 AC	25.00000	245,829.50	29.15000	286,637.20	36.00000	353,994.48
0015 MOWIN	E107 2 2 NG (SLOPE)		64.400 AC	125.00000	8,050.00	250.00000	16,100.00	120.00000	7,728.00
0020 MOWIN	E107 2 3 NG (INTERMEI	DIATE MACHINE	500.400 E) AC	45.00000	22,518.00	115.00000	57,546.00	175.00000	87,570.00
		E MACHINE Se OWING (AC)	ection Totals:		\$550,525.50		\$606,998.40		\$682,301.28
		Contract Gra	and Totals:		\$550,525.50		\$606,998.40		682,301.28



### 01/06/2025

# **Tabulation of Bids**

Page 3 of 4

Lettin	<b>g</b> : 02241211	December 11, 2	2024 <b>Cal</b>	<b>Order:</b> 003		Contract:	E21G6-R0	
	No / Item ID Alterr	nate Quantity Units	(7) ALL TI ENTERPRISE					
( ) in	dicates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001							
0005 LITTER	E107 1 1 REMOVAL	13,706.400 AC	20.00000	274,128.00				
0010 MOWIN	E107 2 1 IG (LARGE MACHINE)	9,833.180 AC	35.00000	344,161.30				
0015 MOWIN	E107 2 2 IG (SLOPE)	64.400 AC	175.00000	11,270.00				
0020 MOWIN	E107 2 3 IG (INTERMEDIATE MACI	500.400 HINE) AC	185.00000	92,574.00				
	0001 LARGE MACHINE MOWING (AC			\$722,133.30				

**Contract Grand Totals:** 

\$722,133.30



01/06/2025

**Tabulation of Bids** 

Page 4 of 4

**Letting:** 02241211

December 11, 2024

Call Order: 003

Contract:

E21G6-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.